
Mr. Chou makes fruit salad that he sells in his store. Today he plans to make a fruit 
salad with 8 pears, 2 cups of grapes, and 4 pints of strawberries. Use the weights 
below to solve the problems.

• A medium pear weighs about   3_8  lb.

• A cup of grapes weighs about   2_8  lb.

• A pint of strawberries weighs about   5_8  lb.

1  Write a multiplication sentence to show how much the pears weigh. 

 Answer:  pound(s)

2  Write a multiplication sentence to show how much the grapes weigh.

 Answer:  pound(s)

3  Write a multiplication sentence to show how much the strawberries weigh. 

 Answer:  pound(s)

4  How much does Mr. Chou’s salad weigh in all? Show your work. 

 Answer:  pound(s)

Practice 

5  361 / 8 =

7  963 / 5 = 

6  396 ÷ 7 =

8  633 / 4 =
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